Solving Quadratics by Factoring

Steps to solving by factoring:

1. Always set the equation equal to zero

Place all variables with exponents in descending order (leave x? term positive)
Factor completely

Set each factored part with a variable equal to zero and solve the equation
Hint- There are as many solutions as the highest exponent
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Solving Quadratics by Factoring
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The solutions to ax? + bx + ¢ = 0 can be represented by s; and s,. E/_“ \

The sum of the solutions s, +s; = -% and the product of the solutions s; and s; = 5

Write the quadratic equation that has the following solution
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